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1. How many 8-bit strings contain exactly three 0s? (15%) .

2. How many edges in a tree with »n vertices? (15%)

3. Simplify the expression xA(yA(x'vz"). (15%)

4. In the experiment of flipping a properly balanced coin three times,
what is the probability of obtaining exactly two heads? (15%)

5. Please find the shortest path and the distance from S to every other

vertex for the weighted graph in Figure 1. (25%)
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Figure 1

6. The graph in Figure 2(a) has the adjacency matrix 4 given in Figure
2(b). Please find the adjacency matrix to show the number of paths of

length 2.  (15%)
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